CLASS: VIII
DAILY ASSIGNMENT-19
DATE: 11. 05. 2020 (Week-4)
SUBJECT: ENGLISH
Multiple Choice questions

TOPIC: UNSEEN PASSAGE
Read the passage and choose the correct answer from the options.

A well-dressed young man entered a big textile shop one evening. He was able to draw the
attention of the salesmen who thought him rich and likely to make heavy purchases. He was
shown the superior varieties of suit lengths and sarees. But after casually examining them, he
kept moving to the next section, where readymade goods were being sold and further on to
the hosiery section. By them, the salesmen had begun to doubt his intentions and drew the
attention of the manager. The manager asked him what exactly he wanted and he replied that
he wanted courteous treatment. He explained that he had come to the same shop in casual
dress that morning and drawn little attention. His pride was hurt and he wanted to assert
himself. He had come in good dress only to get decent treatment, not for getting any textiles.
He left without making any purchase.

1.The young man was well-dressed because
A)it was his habit to dress well

B)it was his wedding day

C)he wanted to meet the manager of the shop
D)he wanted to impress the salesmen

2.The salesmen in the shop are described as people who pay attention to
A)only young men and women

B)pretty women

C)only rich customers

D)regular customers

3. The young man moved away to the hosiery section because he
A)was not interested in purchasing anything now

B)did not like the readymade clothes

C)wanted better clothes

D)was restless

4. The manager asked the young man what he wanted because

A)he would give him exactly what he was looking for

B)the salesman had drawn his attention to the indifferent attitude of the young man
C)he thought they could do more business with him that way

D)he thought the visitor was dissatisfied

5. The young man left without making purchases because he

A) did not have money

B) could not find any item of his choice

C) had come only to make a point about the indifferent attitude of the salesmen towards
casually dressed customers

D)decided to come to make the purchases later on



SUBJECT: COMPUTER
Multiple choice questions:

1. Which of the following are the set of machine readable instructions that directs a processor
to perform specific operations?

a) Data

b) Program

c) Computer Software

d) CPU

2. 1024 KB is equal to:
a) 1 Megabyte

b) 1 Zeta byte

c) 1 Byte

d) 1 Gigabyte

3. Which of the following communication media includes electrical cables that are used to
carry signals from one end to other?

a) Wired

b) Modem
c) Wireless
d) Capacitor

4. Which of the following is not included in one of the main objects of an access database?
a) Table

b) Forms

c) Queries

d) Format

5. The arrangement of the elements of a communication network which comprises of nodes
and connecting lines is known as:

a) Topology

b) Database

¢) Workbook

d) Connectors

SUBJECT: MATHS
Multiple choice questions:

1. If29Xis a multiple of 3 and X is a digit, then find the value of ‘X’
a. 0

b. 2
c. 1
d. 3



2. 1f 52X8 is a multiple of 9, where X is a digit, then what is the value of ‘X’
a. 3
b. 6
c. 9
d 0
3. Thevalue of Aand B in
3A

a. A=7,B=6
bh. A=7,B=7
c. A=3,B=5
d A=3,B=5
4. Which of the following is the numerical co-efficient of -6x2y??
a. -x2
b. -y?
c. -6
d 6
5. What degree does x* — x3y? — 8y? + 6 have?
a. 2
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b.
C.
d.
SUBJECT: PHYSICS

Multiple choice questions:

1. A force applied on an object may change its
a. colour
b. mass
c. weight
d. speed

2. The net force on an object is---------------- if the two forces acting on it in opposite
directions are equal.
a. always more
b. towards left
C. zero
d. towards right
3. Which force is used by archer to pull a bow?
a. muscular force
b. frictional force
c. gravitational force
d. magnetic force



4. Which of the following class of forces is different from others?
a. pulling a cart
b. stretching of a coiled spring
c. kicking of a football
d. electrical force
5. Which of the following is not a force?
bending
heating
pressing
twisting
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SUBJECT: CHEMISTRY

Multiple choice questions:

1. 1. Which of the following is NOT a characteristic of most metals?
A) Brittle
B) Ductile
C) Good conductor
D) Malleable

2. is the ability of an object to carry electric current.

A) Thermal conductivity
B) Electrical conductivity
C) Malleable

D) Ductile

3. Metals with lowest density
A) Sodium
B) Potassium
C) Lithium
D) Caesium

4. Sulphur element is said to be

A) Ductile
B) Hard
C) Malleable
D) Brittle
5. Which of the following element is a metalloid?

A) Na
B) S

C) Si
D) Ag



SUBJECT: BIOLOGY
Multiple choice questions:

1. The science which deals with the study of microorganisms is called:
(a) Microbiology

(b) Myology

(c) Pathogen

(d) Taxonomy

2. What is the name of the largest bacterium?
(a) Thiomargarita namibiensis

(b) Vibrio cholarae

(c) Lactobacillus

(d) Rhizobium

3. A connecting link between living and non-living:
(@) Virus

(b) Bacteria

(c) Fungi

(d) Algae

4. Who is known as” father of microbiology”?
(a) Louis Pasteur

(b) Alexander Fleming

(c) Robert Hooke

(d) Antoine van Leeuwenhoek

5. The only protozoa which contains chlorophyll and can prepare its own food:
(a) Euglena
(b) Paramecium
(c) Plasmodium
(d) Trypanosome
SUBJECT- HISTORY
Multiple choice questions:

1. Who propagated the policy of paramountcy?
a. Warren Hastings
b. Lord Cornwallis
c. Lord Dalhousie
d. Robert Clive
2. The British had divided their territories into administrative units called
Capital city
b. Town
c. Presidencies
d. Cantonment
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3. The Sardar Nizamat Adalat was set up in ?
a. Bombay
b. Calcutta
c. Madras
d. Delhi
4. A new Supreme Court was established under the regulating act of
a. 1873
b. 1773
c. 1837
d. 1737
5. By 1857 the company had .............. of Indian territory under its direct rule
a. 53%
b. 83%
c. 73%
d. 63%

SUBJECT: GEOGRAPHY
Multiple choice questions:
1. 1. In which method farmers cut mountains into a series of terraces for cultivation?

a) slash & burn
b) shifting cultivation
c) afforestation
d) terraced agriculture
2. Use of _ _in farming causes damage to the basic soil properties
a) water
b) tractor
C) pesticides
d) seeds
3. Rock dams are generally built in which regions?
a) hill slopes
b) pron to earthquake
c) pron to flooding

d) forest



4. Over grazing by cattles causes damage to the soil as the top soil get
a) exposed
b) imposed
c) composed
d) all of the above
5. In coastal areas very high tall trees are grown in rows to
a) slow down the speed of the wind
b) stop winds
c) don't stop wind

d) speed up the wind
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